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child’s hand at t=0. Which of the graphs shown here best represents the velocity

of the stone as a function of time? v
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3. An astronaut is in circular orbit in a satellite around the earth. The astronaut feels
weightless because
(ay Centrifugal and centripetal forces acting on her cancel each other.
She is in a vacuum %
©. She is wearing an antigravity suit
}\ ‘She and the satellite are both accelerating at the same rate towards the
earth.
\e\ At that distance, the earth’s gravity is zero.



[image: image3.png]4. A quantity that remains constant in uniform circular motion is:
a. Centripetal Force
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c. Speed
Momentum

y fe.) None of These.
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